N = 0l & At & M A

20223 = =0 &b LA AHE =X

SN A =T
X ZH o= AH S
oS = /| =

Sl AR BE E4 EERED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
At = X 8,516,538 8,000,548 515,990
= 1,292,218
Al HI 716,618
Tyl 6,507,702
SMEAC A XA 3,565,680 3,718,911 A 153,231
= 500,000
Al HI 250,000
Tl 2,815,680
IS B2 =4 574,670 767,031 N 192,361
22 L QAT 22 (HMEAIY) 524,670 667,031 A 142,361
101 21 214| 316,169 342,087 N25,918
04 JIZtHIZ22XNSES 316, 169 342,087 AN 25,918
O=2¢, KX s 22l 274,189
ol 21| 82,016 13 x28 x8& 238,831
SEE 4G 3,000 x2H 28 «8& 1,344
- 200HAZ2EEEY 2 238,831,000 *4 .5% 10,748
Z0AHUESE 2= 238,831,000& *3.43% 8,192
NEBEEHZ 238,831,000 *1.65% 3,941
MIEEEEZ 238,831,000& *1% 2,389
COEIRYREEYS
8,192,000& *11.52% 944
SXEOE L HAEAMANWZ= 600,000& «13H 7,800
OXaiA S 2tel 41,980
oI g 82,016& »2H 28 x8& 36,744
- 200HAZ2EEEY 2 36,744,000 x4 . 5% 1,654
ZoOAHAUESE 2= 36,744 ,000& x3.43% 1,261
- NEgEed"2 36,744,000 *1.65% 607
CAMTEEREE S 36,744,000 x1% 368
LoD QABEEH=
1,261,000& x11.52% 146
SXNZE L A2 600,000 x2H 1,200
201 LBt | 96.691 88,215 8,476
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O 222 67,266
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A Bl ES 6,000,000 6 36,000
HLD| 22 50,000& 20 12& 1,200
SHANAL OHAIEI QA AlZS
5,500& x1tH*x12& 66
OZ2&, KX AIE&H |X 29,425
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2@ 2 APEA JNALUSSEA 2 S
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Y (AT, 24D F)
550,000& x13.50H 7,425
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03 A F=XH S =AY 810 729 81
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12,000, 000& 12,000
305 a2 S 2,000 2,000 0
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=2 W HEols0lAlZ &EHl 10,000,000& 10,000
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OQtEME3 ZEAY 50,000 100,000 A50,000
401 Al HI L =2 Tl 50,000 100,000 £50,000
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M B2t =3} 2,991,010 2,951,880 39,130
= 500,000
AlHI 250,000
L Hl 2,241,010
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101 @124 dl 630,986 769,484 A 138,498
04 It Z2XEES 630,986 769,484 A 138,498
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SN A =T
HE: =MEBATA E4
MBB =3 EERED

250,000

SA B ER(EN) - AR - BES of & o4 San HIDZ2
206 M =8l 174,900 144,400 30,500
01 M= dl 174,900 144,400 30,500
Oz =3, =X 2l it 66,900
C 2 =2 A A 5,000& «6,000H 30,000
gdol s M 11,235& »178H 2,000
NS 20,0003 *300& 6,000
CEAAT R (MFHIS, &, MFIIE 8)
10,0003 1208 1,200
oY BAME = 330U
4003 *33, 5004 13,400
lze, s ==SHE
10,0003 *1,200% 12,000
JIEH 22l XM 2,300,000& 2,300
OAZBE =3t Mok, 2| K 108,000
ZsFAS(OFH) 13,000& =4, 0004 52,000
ZEH S HE=x3
1,000& +5,000=*33] 15,000
HE & s9f 10,000& 600 &£ 6,000
=i 200& %170,000= 34,000
JIEH2CI T (2= A8 &) 1,000, 000& 1,000
305 HHats s 1,000 3,000 22,000
o1 ia=S 1,000 3,000 A2,000
Ozdith & (=X&d) 1,000,000& 1,000
401 AIEHIZ 2 I 1,093,200 543,000 550,200
01 A€ dl 1,091,200 541,000 550,200
O¥gs=A & &P =X 2]
35,000,000 35,000
OXEAULR & =3+ 2 20,000,000& 20,000
OJg=+ & st=sil 22 150,000,000& 150,000
Q&g eIl HEUS 2+ Satatel
300,000,000 300,000
ONXNSE A= 2l 527K 2=+600,000& 31,200
OFR¥s |R5A Z& 2¢ 15,000,000& 15,000
OL=2d A £& FHIAE 500,000,000 500,000
Ot & d ZHAME JIBAIE &3
20,000,000 20,000
Otz & Stet=sX 24 20,000,000& 20,000
03 Al& 2 i1 2,000 2,000 0
O=XALY AlE 201l 2,000,000& 2,000
OINESX XtEts ZEAY 1,000,000 1,412,000 A412,000
500,000
250,000
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X ZH -
L= B

el

AR =TI
SMBATA EA
M2 3T =3

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 1,000,000 1,412,000 A 412,000
= 500,000
AlHI 250,000
- Hl 250,000
01 A& HI 1,000,000 1,412,000 A 412,000
020223 OIMSHX U= =4
1,000,000, 000& 1,000,000
= 500,000
AlHI 250,000
T Hl 250,000
SMERS =4 4,531,344 3,911,742 619,602
= 792,218
AlHI 466,618
T Hl 3,272,508
===\ 1,217,928 1,264,433 A 46,505
= 96,433
AlH 38,895
- Hl 1,082,600
SEMEHA 2HF R 10,610 10,610 0
= 3,764
Al 1,693
T Hl 5,153
201 £B-2dH| 1,200 1,200 0
= 480
Al 216
Tl 504
01 At 22l 1,200 1,200 0
O4t=&lst g4 6,000& *200H 1,200
2 480
Al 216
I 504
202 04l 1,200 1,200 0
= 320
AlHI 144
L Hl 736
01 = LH o4 1l 1,200 1,200 0
Odt=22dlst == 20,000& 60H 1,200
= 320
AlHI 144
- Hl 736
206 M= Hl 7,410 7,410 0
= 2,964
Al 1,333
Tl 3,113
01 M= 4l 7,410 7,410 0
OXS&HHI(SEHE
390,000& 19Kl E 7,410




AN AHE =X
Bu: MRS T4
& =X CEE-ED
SA - BB B () - MM - BES Ol &t o San HmEET
= 2,964
AlHI 1,333
T Hl 3,113
405 XHoHF S HI 800 800 0
01 AL EZFH S 800 800 0
OFUEREI WA= 800,000& 800
AE2XSHA 2F L 2S(X2) 11,100 2,600 8,500
- 4,440
Al HI 1,998
L Hl 4,662
201 L2l 2,600 2,600 0
= 1,040
AlHI 468
1 Hl 1,092
02 2324l 2,600 2,600 0
OdS2ZAI2 AT ZHMAIAE JreH & Sa=z
(15CH) 130,000& »20CH 2,600
= 1,040
Al HI 468
I 1,092
405 TtHabF S| 8,500 0 8,500
= 3,400
AlHI 1,530
I 3,570
01 AL EFFHSHI 8,500 0 8,500
OJlAHlstetE 8 SHAI AR 22 8,500,000& = 1CH 8,500
= 3,400
AlHI 1,530
T Hl 3,570
At THOH 2 Ktel SHO(MEX2 LR SH) 195,573 143,507 52,066
= 78,229
AlH 35,204
T Hl 82,140
101 1A dl 186,509 134,587 51,922
= 74,604
Al 33,572
-l 78,333
04 JIZHHZ2XNHEE S 186,509 134,587 51,922
Odatglzte] & MM L& (10Y)
186,509, 000& 186,509
= 74,604
AlHI 33,572
T Hl 78,333
201 £B-2dH| 9,064 8,920 144
= 3,625
Al 1,632
T Hl 3,807




SM: MESXD
HE: MYXRO E4
el aEe

=2\ (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 8,060 8,920 A 860
Ot 22= 400,000& x10 4,000
= 1,600
Al 720
2| 1,680
OU=ET E=sIHE Xl 580,000& +7& 4,060
= 1,624
AlHI 731
L Hl 1,705
02 3322l 1,004 0 1,004
OU=8d ssxeE FF
1,434 1002 A +7 & 1,004
= 401
AlHI 181
el 422
S0y 2 &St 990,645 1,097,716 A 107,071
101 14 Hl 944,247 1,051,317 A 107,070
04 JIZHHZ22XRHEES 944,247 1,051,317 A 107,070
O4&tE2Z Al 944,247
oIl 82,0163 «48H 170 669,251
SSRGS 3,0003 x9H x170 4,590
- =X 82,0163 x48H 30! 118,104
SN 82,016R x48H 7 27,558
- SUASEERE3 819,503, 000& *4.5% 36,878
- ZCALEHREE S 819,503,000 x3.43% 28,109
NE2ERES 819,503,000 *1.65% 13,522
MHEERES 819,503,000 1% 8,196
LRI RLBERES
28,109,000& *11.52% 3,239
HE MOUHS(ZSHHI0HELE)
300,000& x58H 17,400
SXNEAE(XSHI0EEZE)
300,000& x58H 17,400
201 Yer2 | 20,150 20,440 £290
01 At 22l 17,030 17,320 A 290
OUL=YX SEESHAE S 1,450,000& 1,450
OU=ZRNUHM=R 22X 24
8,000 x2H x1702! 2,720
Ot=LINUH=R 22+
70,0003 »2H 792! 11,060
OUEEINUHM=R 22X 282=
100,000& » 18 1,800
02 2324l 3,120 3,120 0
odgdzels MEEH 7 S 2,580,000 2,580
OAN&EH SFHl 540,000& 540




SN MESXD
M pETES T4
& =X CEE-ED
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
203 R F & 2,500 2,475 25
03 AIZH =X 2= X H| 2,500 2,475 25
OME0Y & MY, =X, TY BeIBE =3
2,500,000 *90% 2,250
OZ22222 X ©sttlsl 250,000& 250
206 M = dl 7,900 7,900 0
01 X2 bl 7,900 7,900 0
OdtE oes M 7,900
SAlg R, EES X)), =A HEHY S
7,900,000 7,900
301 et M= 1,848 1,584 264
B AIS=SER2RILZ A= 1,848 1,584 264
OMNSZA EREX ZAlH|
7,000 x1H*x222 x12& 1,848
401 A& HI L 2 0HHI 14,000 14,000 0
01 Al& H| 14,000 14,000 0
Olt= ol et gtstd & X 14,000,000 14,000
AMNIIELRIA 2 (ME2EHX]) 10,000 10,000 0
= 10,000
301 et A= 10,000 10,000 0
= 10,000
0B AISIESER2IAL A= 10,000 10,000 0
Odr28 X ASXH(1YH) 10,000,000 10,000
= 10,000
= | 3,313,416 2,647,309 666, 107
= 695,785
Al HI 427,723
24 2,189,908
SMHOIELZANE HME=2H 4,920 4,920 0
= 2,460
Al H] 738
24l 1,722
301 2EtE A =2 4,920 0 4,920
= 2,460
Al H] 738
24l 1,722
12 JIEtE2 A= 4,920 0 4,920
OZMMoISIo 2 A& 60,000& 1«82 4,920
= 2,460
Al H] 738
Tl 1,722
A ZR XM (MEAIY) 1,100,000 1,500,000 A 400,000
401 Al HI L 2 0HHI 1,100,000 1,500,000 A 400,000




SN MESXD
Bu: MRS T4
ol a2 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 1,100,000 1,500,000 A 400,000
OMAzZ &I =L (2E)
1,100,000, 000& 1,100,000
OMMd2ZHZ =& 22,000 22,000 0
= 11,000
AlHI 3,300
T Hl 7,700
401 Al HI K 201 I 22,000 22,000 0
= 11,000
Al 3,300
T Hl 7,700
01 A& HI 22,000 22,000 0
ODIMHX M2 22,000,000& 22,000
= 11,000
Al 3,300
I 7,700
28t Holl= 2 A 70,401 72,022 21,621
= 50,230
Al 6,054
I 14,117
401 A& HIZ 201 8] 70,401 72,022 21,621
= 50,230
AlHI 6,054
L Hl 14,117
01 A& HI 70,401 72,022 21,621
Ogetdoi =2 Al 70,401,000 70,401
= 50,230
AlHI 6,054
T Hl 14,117
A2USR HEESE 2H 62,115 58,115 4,000
= 41,131
AlH 5,692
T Hl 15,292
401 AIEHI L 20HEI 60,115 58,115 2,000
= 41,131
Al 5,692
-l 13,292
01 A& HI 58,115 56,115 2,000
O4teddollE 2 Al 58,115,000& 58,115
= 41,131
Al 5,692
1 Hl 11,292
03 A& =2 THHI 2,000 2,000 0
OsAZ=s2 MMl S 2,000,000 2,000
405 XtatE SHI 2,000 0 2,000
01 AR ESFH S 2,000 0 2,000




2N
X ZH -
L= B

el

- _ _ RE]
M- B (B H) - NSAY - B %Ei 2t
ONHEHNSHZSME AFRA A2
2,000,000& 2,000
A2 THOH L Ktel 2| (A2 B o =0l CH-AAMEX 134,316 132,944 1,372
= 67,158
Al HI 20,148
24| 47,010
401 Al HI L £ 0HHI 134,316 132,944 1,372
= 67,158
Al HI 20,148
24| 47,010
01 Al& B 134,316 132,944 1,372
Odregoll =8t Al 134,316,000 134,316
= 67,158
Al HI 20,148
T 47,010
ZH =) R )| 31,134 30,634 500
= 15,317
Al HI 4,595
T 11,222
401 Al EHI L 204 HI 31,134 30,634 500
= 15,317
Al HI 4,595
Tl 11,222
01 Al&H| 31,134 30,634 500
OX& XI2tR I (20ha) 31,134,000 31,134
= 15,317
Al HI 4,595
24| 11,222
SNHAEZER0 29 88,000 88,000 0
= 44,000
Al HI 13,200
24| 30,800
101 @121 | 85,000 85,000 0
= 42,500
Al HI 12,750
24l 29,750
04 JI2ZtHIZ22NEE 85,000 85,000 0
O AT 22 (2Y) 42 /500,000 42,500
= 21,250
Al HI 6,375
T 14,875
Og9a=3CH0IH(2Y) 42,500,000 42,500
= 21,250
Al HI 6,375
24 14,875
206 M 2 d| 1,200 1,200 0
= 600




SN MESXD
M pETES T4
ol a2 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 180
L Hl 420
01 24l 1,200 1,200 0
OdE ANl AE20l 8 FH S  1,200,000& 1,200
=2 600
Al 180
- Hl 420
301 LeEBAF 1,800 1,800 0
= 900
Al 270
4l 630
09 SALEHIX RS 1,800 1,800 0
OdEANMEBIAER0| BEEH 1,800,000& 1,800
= 900
AlH 270
L Hl 630
=g GME=EXNEEY 2 29 76,500 76,500 0
= 38,250
AlHI 11,475
T Hl 26,775
307 i+l & 76,500 76,500 0
= 38,250
AlHI 11,475
T Hl 26,775
05 RIZHRI &3 76,500 76,500 0
O=dld MHH=RNH2Y AE 29
76,500,000& 76,500
= 38,250
AlHI 11,475
L Hl 26,775
=T (MEAY) 591,240 160,000 431,240
AlHI 153,000
T Hl 438,240
101 @124 dl 111,240 0 111,240
04 JIZHHZ22XEES 111,240 0 111,240
O=2dX4 JIZHI2RA(T7Y) 111,240
IAY (FEREE)
82,016 x7H »282 «6°H 96,451
SXNEQE 2 HEHNOMZ 600,000 7 4,200
- EER 96,451,000 *4.5% 4,341
ICALEEZ 96,451,000& *3.43% 3,309
FIRLBER 3,309,000& *11.52% 382
- UEBESE 96,451,000& *1.65% 1,592
CMHEEE 96,451,000 *1% 965
401 A& HIZ 201 I 480,000 160,000 320,000
AlHI 153,000
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SN HH-S(BN) - MBAY - B il HlnE2
- i 327,000
01 A& HI 480,000 160,000 320,000
OS4&2 Hdl(34.5km) 180,000, 000& 180,000
Al 153,000
Tl 27,000
O=Zzx4d 2 2l 300,000, 000& 300,000
LT AIE (HEALY) 100,000 100,000 0
AlHI 76,000
T Hl 24,000
401 Al HI & 28I 100,000 100,000 0
AlHI 76,000
T Hl 24,000
01 A& HI 100,000 100,000 0
O+ ZIH 2 (1.0km) 68,000,000& 68,000
Al HI 52,000
I 16,000
OYT 2 (6.4km) 32,000,000& 32,000
AlHI 24,000
T Hl 8,000
At ALS 387,513 0 387,513
=2 271,259
AlHI 81,377
-4l 34,877
401 Al I 28I 387,513 0 387,513
= 271,259
Al 81,377
-4l 34,877
01 A& HI 387,513 0 387,513
OHAREH(2M L) 387,513,000& 387,513
= 271,259
AlHI 81,377
I 34,877
AP THOH L Kb2l S| (AHAMER S & ol & e 122,300 53,652 68,648
= 43,500
AlHI 19,600
- HI 59,200
401 Al HI L 2 THHI 122,300 53,652 68,648
2 43,500
AlHI 19,600
-l 59,200
01 A& HI 122,300 53,652 68,648
O THOH L kel (AHALER & Z 0l & EH)
122,300, 000& 122,300
= 43,500
Al HI 19,600
I 59,200
MESAY 150,017 127,682 22,335




2A: M =X

S MEXNRAS XM

el sz el CER-ED
- - . RE!

SAH-EB. S (3H) - HEAY - BE2 0 AF o il HDS2
101 @121l 61,167 52,494 8,673
04 JI2ZtH2Z2XNHEE 61,167 52,494 8,673

ONMEAIEZ 22l L MEES 61,167
oI (FENEE)
82,016& x4 282! x6 & 55,115
=0HZEEHEHE 2 55,115,000& *4 . 5% 2,481
- RUHUEEHREHZ 55,115,000& *3.43% 1,891
LIEBERE S 55,115,000& *1.65% 910
ATHEE RS2 55,115,000& *1% 552
oI RUYBEELE S
1,891,000 *x11.52% 218
201 et A | 29,320 21,558 7,762
01 AFR22t2ldl 13,900 9,558 4,342
ORH4FBXMINEF? &9 HE 15,0002 x160& 2,400
O2t0|3t & A HSE A
300,000& 33 * 104 A 9,000
OASUMAL S A4 10,000& x150H 1,500
OFt&al AFHA LA 100,000& =104 1,000
02 33249l 15,420 12,000 3,420
OSHEAMNPA =] AU 60,000& x12& 720
OHXE0Dl & st&a M2
14,700,000& 14,700
206 M = 8l 10,530 13,630 A 3,100
01 & bl 10,530 13,630 A 3,100
OAlSd AN I & 6,030,000& 6,030
SHAXMRL 52 S 4,500,000 4,500
401 AIEHIL 200 45,000 40,000 5,000
01 A& HI 45,000 40,000 5,000
OME U ANIE=S S22 20,000,000& 20,000
Ol THalIE= A 20,000,000& 20,000
OSHEAMNPA &4E oY 5,000,000& 5,000
405 XHaHF S| 4,000 0 4,000
01 M =S FSHI 4,000 0 4,000
OBFARY 00j2 L HFD 2Y
4,000,000 4,000
SMHHSSEES 3,000 3,000 0
= 3,000
201 LEt2 Y| 1,500 1,500 0
= 1,500
01 At 22l Yl 1,500 1,500 0
OSMEBEHH(R 0= &L 24AH S
1,500,000& 1,500




SN MESXD
Bu: MRS T4
ol a2 EERED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,500
202 o4 | 1,500 1,500 0
= 1,500
01 2L I 1,500 1,500 0
OZ2MBSEALESA oyl 1,500,000 1,500
= 1,500
OMSA M S2L=I131D] 216,960 216,960 0
=2 108,480
Al HI 32,544
ksl 75,936
401 AlEHIZL 2 0HY| 216,960 216,960 0
2 108,480
Al HI 32,544
24 75,936
01 Al&H| 216,960 216,960 0
OO0IMIH X HZ =21 D] 216,960,000& 216,960
2 108,480
Al HI 32,544
I 75,936
28 1sg 2 EAISE Mol=SF2ALY 153,000 0 153,000
401 A& HI L 2 0HHI 153,000 0 153,000
01 Al&H| 153,000 0 153,000
O2% W3 22 EAISSES Mol ALY
153,000,000 153,000
HHSHAY (ME =S 419,514 369,895 49,619
ol 2 A Y| 361,885 312,266 49,619
ol A | 361,885 312,266 49,619
101 @121 ] 352,400 304,911 47,489
03 2 (RIHSY) 22 E 352,400 304,911 47,489
outd, =X, 33 22& 352,400
ez 3,900,000 5% x12& 234,000
M 7,200
-GS (R ) 40,000 x5 H «12& 2,400
- I E (&l E) 20,000 x20 x12& 4,800
S| E M| 24,000
- gAY 140,000 x5 x12& 8,400
- HE S 0H| 3,900,000 x5 *80% 15,600
ZD224+Y 87,200
-guIRsy
21,165 x8A| 2t *150%*5% x52 66,035
SR ESEIY
21,1653 *8A| 2t x5% x252! 21,165
201 2Et24Hy| 1,575 1,430 145
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X ZH -
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el

NEE
HHS YA (MY =)
ol 2yl

A B O9(SA) - NRANY - BES il 2
01 AFR2t2ltl 1,575 1,430 145
om=s & otdst 150,000& x5 750
Oogst=s 100,000 x5 500
O=Z & S LIS 65,000 x5 325
202 044l 500 800 A 300
01 SLHOYI 500 800 A 300
Ozeld HAR2u=s (Ol 20,0003 x5H x53] 500
303 Z& = 7,410 5,125 2,285
02 dta0i= 7,410 5,125 2,285
Oduan= 3,900, 000& «38%*5H 7,410
|2 Zdl 57,629 57,629 0
JlE&l 57,629 57,629 0
201 ¢er24| 12,053 12,053 0
01 At 22/l 12,053 12,053 0
ORM2E=EH 5,832,000& 5,832
Or=1=14:l 6,221,000 6,221
202 04l 42,336 42,336 0
01 = LH 4 Hi 42,336 42,336 0
OJlegdS=a80dl 280,000& <18 =128 «70% 42,336
203 R =&l 3,240 3,240 0
04 RFN2ELRZ=TH| 3,240 3,240 0
ORAM2IYRFLH] 3,600,000 *90% 3,240




